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There are 61 soldiers in the Southern Roman Legion
and 23 soldiers in the Northern Roman Legion. How
many soldiers are there altogether?

Emperor Juluis has 35 slaves. Emperor Antonius has 14
slaves. How many slaves do they have altogether?

A squad of Roman soldiers travelled 40 miles from
Rome to England, then 22 miles further to Scotland
How far did they travel in total?

There are 31 citizens of the Roman Empire. They invade a country
and capture a further 66 citizens. How many citizens are there now?

An armoury has made 71 swords and 28 spears for the Roman army.
How many weapons have they made altogether?

A travelling merchant had 11 bottles of olive oil on his ship. He
purchased another 44. How many bottles of olive oil does he have
now?

A grape farmer has 24 grape vines on his property. He buys some
more land that comes with another 10 grape vines. How many grape
vines does he have in total?

The Roman army currently needs 8 sandals between them. 2 Romans
finish their training and join the army. How many sandals are needed
now? Hint: All of the Romans have the correct number of legs.

Page3of3 e27words [

v @B B -1 o





